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Practice 
 

 

Arithmetic 
 

 

Problem Solving 
Task 1                            
Award THREE marks for the correct 
answer of 14 

If the answer is incorrect, award TWO 
marks for: 
sight of 414 as evidence of 23 × 18 
completed correctly 
OR 
evidence of an appropriate method with 
no more than one arithmetic error, e.g. 

     20 × 20 = 400 

      

     400 − 314 = 86 
 
Task 2 
A 
Accept alternative unambiguous positive 
indications of the correct triangle, e.g. 2 

 or 2.5. 
 
 
 
 
 

Reasoning 
Task 1                           Task 2 

            

Task 3 

 



Day 1 Answers 
Task 3 
Award THREE marks for the correct 
answer of 3076 square metres. 
If the answer is incorrect, award TWO 
marks for: 

•        sight of 9184 as 
evidence of the 
multiplication for the 
first step completed 
correctly. 

OR 

•        evidence of an 
appropriate method 
which contains no 
more 
than ONE arithmetical 
error, e.g: 
             112 
       ×      82 
           8960 
             224 
            9187   (error) 

           9187 
      −   6108 
           3079 
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